Model Prediction (P3-8)

P3-8: ['PA', 'Rm'] P3-8: ['CS', 'CD', 'CB'] P3-8: ['Ldem’, 'Ndem', 'Rdem’, 'FLdem’, 'FRdem’]
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P3-8: ['LfN', 'NdN', "TsN', 'tgtLfN', '‘prunLfN']
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P3-8: ['LfN', 'LfNT', "TsN', "TSNT']

— LfN
—— LfNT |
—— TsN
—— TsNT

30
25

20
15

10

175

150

125

100

75

50

25

-25



P3-8: ['LfA', 'peakTgtLAI']
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P3-8 (plot by DAT)
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Days After Budding

P3-8 TsN1 (plot by DAT)
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P3-8 TsSN2 (plot by DAT)
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P3-8 TsN3 (plot by DAT)
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P3-8 TsN4 (plot by DAT)
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P3-8 TsN5 (plot by DAT)
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Days After Budding

P3-8 TsN6 (plot by DAT)
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P3-8 (plot by adjDAT)
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Days After Budding

P3-8 TsN1 (plot by adjDAT)
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Days After Budding

P3-8 TsN2 (plot by adjDAT)
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P3-8 TsN3 (plot by adjDAT)
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P3-8 TsN4 (plot by adjDAT)
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Days After Budding

P3-8 TsN5 (plot by adjDAT)
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Days After Budding

P3-8 TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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